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':_ Sectlon A ( 30x2 60 MARKS)

.....

' Optlcal Answer Sheet.

' 1'.7 Flgure 1 below shows the water-carrymg tube (xy!em) and’ food-carrylng tube~
(phloem) ofa plant. ST . ‘

Figure 1

“In which part(s) of the plant in ﬁgure 2 canthe fubes be found? """

W A O.H_ly
(2) Conly
(8) AandConly
@4 ABCandD

2. ' The diagram below shows the cross-section of a flower with male and female
parts.

Which paris of the flower are directly invoived in the pollination process?

(1) AandBonly

() DandEonly

(3) A, BandEonly
4 ABC,DandE




3. The diagram béldw’ shdwé-ﬂze-exdhéngé-'-ofgaées inan ehvironment':

Buifning of-ﬁieis -

A

i 2

{" Bacteria | C

h. 4

: Cafb'o_h dioxide

- Animals ]

Which one of the following sets of arrows represents respiration?

q))

(@
(3)

4

-JD and KF only
'AB, CE and KG only.
CE, KF and JD only
HG, KF and.CE only

4. Which one of the following adaptive features of the various organisms is
correctly matchedwith its function?

Name of Adaptive feature Function of-adaptive:.
organism ' ' feature
_ : Stiff hairs on To increase friction for
(1) | Polar Bear underside of paws movement on ice
. To catch and tear the flesh of
1(2) | Eagle _ Has talpns | its prey
(3) | Camel Has hump on its back | To store water and fat
(4) Pftcher' Plant | Leaf modified as pitcher | To trap ihse,cts as nutrients




Hassan carried out an investigation-to find out.'hpw d'r.fferént.'ccndi'ﬁo'ns,; affect
plant growth. ‘ ' - ~ o
He placed five similar small ﬁ!anté‘ ‘into-sepairate pots and.drew the plants under
the conditions shown in the table. A fick () indicates the presence of the .
condition. ‘ - 7

Condition | PlantA PlantB | FlantGC | PlantD -P'lént:E ,
e | v | ¥ | X | v ¥
sand v l X | v, ' *J |  \‘  gl
watea.' — ng - _\F V‘_:Vl ‘ ).(. - '.: 3

fertilizer V'X Y WJ - .\7 B

The diagram below shows the plants after two weeks.

e -

Plant A PlantB Plant C Plant D . PlantE" .

Based on the results above, which condition has the least effect on plant growth?

(1) light
(2) sand
(3) water

4) fertilizer




- 6 John wanted to test if substances, X,Y or Z,-could be used-to: keep 'fru'itﬂi‘es'.
away from tomatoes. To-do this he coated some tomatoes with the substances .
and left some tomatoes with ho coating. He used similar tomatoes for all tests.

- ‘He counted the number-of fruit flies on the fomatoes afier two hours.-~ -

in 6rder to obtain the most ré?iéble;r‘eéuits, which one of the foiloﬁhé’_s’ét-ﬁps’
should he use to fest the effect of the substances? - : ‘

W e

' No coating  Coafedwith | ' Nocoating | Coated with o
- substance X only | : | substance X only

toto o : : S e
Coatedwith | Coated with , . Goated with Coatedwith . |.
- substance Y only substance Z-only - - substances X &Y | substances'X, Y

&L

3) ' - “ -

No.coating . Coated with ' | Nocoating | Coaled with _
: . substahcex-oniy ' ' ]

Coatedwith - | Coated with

substance Z only | ' ;Ugsfahceé X Y
7 R BT ) @ @ @ - A

=rry



The table below gives some -iﬁfonnaﬁor_i_ on fou_i’ birds.

“Birds .

Characfteristics | Albatross.| Hawk .| Kestrel . Owl
Glides ™ - K k'

. _Hovers - : N N
Keen eyesight R S o
Wide wingSpan A - N T

Based onthe table above, the birds can also bejc-las.si,ﬁed in the following
classification chart. The letters A to F represent characteristics of the birds.

. Birds
.

!» .

A

— o
[ — L & )
C | D " E F

- Kestrel Hawk Albatross Oowl

Which one of the following correctly shows the qharécteri‘sﬁt‘:s Band D?

{1 Glide -..Ddes not have wide wingspan
(2). | Hover Does not have keen eyesight
(3) _ Glide . Does not have keen eyesight
(4) .| Does not have wide wingspan Hover -

SICHNEN

A Qroup of scientists foun
below.

d..tl\n‘ro parts of an animal as shown in the diagram

Based on the parts discovered, which one of the following statements about the
animal is most likely to be correct?

(1) ltwas a mammal
(2) twas an aquatic animal.
(3) It breathed through lungs.
It reproduced by laying eggs.

@)




.

‘The drawinig below shows a boy blowing a balloon.
" Which one of the fo!fovwng correctly descnbes what happens to his nbcage,
diaphragm and chest when he blows info the balloon’? . B
] Ribeage Giaphragm Chest _
| (1) Move out and upwards . | Move downwards--| - . Bigger
{2) | Move out and upwards Move upwards Smaller
(3) | Movein anddownwards | Move downwards Bigger
(4) | Move in'and downwards Move upwards Smaller
10.  Study the food web below carefully.

N
S

4____,..——-"' |

__ Based on the food web above, two experiments are carried out. Some of the
“stganisms are kept together in one container over a perzod of time as recorded in
the table below. .

I .Expeﬁmg‘nt:‘ Organisms that are kept together

) T | . A,CandD.
2 ' A, BandC .

Which one of the following is most likely o be the outcome of the experiments?

Outcome of experiment 1 | Outcome of experiment 2
(1) .C and D are left Ais left
{2) Disleft . Cisleft
{3) A and D are left Cisleft
(4) Disleft A and B are left




9.

12.

The diagram below ‘show's:a -bird's.neét femn growing on'the trunk of a rain tree.

bird's nest‘férn —_

- rain free

The'bird's nest fein grows-_ét -thé base of .'iarge branbheé’ and cah grow in the
absence of soil as it has a unique ability to trap water. The rain tree is not.
damaged by this. process and . does not benefit from it
Which. one of the following | é‘s‘_t iliastrates a similar tsibé'of re_lationship as the
bird’s nest fem and the rain tree? ' :

(1) - Ladybirds feeding on aphids. . _ :

(2) - Vultures feeding on the remains of the lions’ catch,

(3)  Fleas living underneath a dog's fur and feeding on its blood.

(4) . Butterflies feeding on the nectar of flowers and poliinating them.

Study the cell'below carefully.

vacuole cell membrane

T S

cell wall =

chloroplast  nucleus

In which of the organisms shown below could the celt abov'e be found?

‘moss growing’
on log

orchid flower

(1) cactus only

(2)  moss and cactus only :

(3}  moss, ginger and orchid flower only
(4)  moss, cactus, ginger and orchid flower




13,

"4,

'-A-group of students: carned out an iodine test with a variegated leaf plucked ffom a
plant that had been exposed to. sunlight for several hours. The diagram below
'shows the result of their t_eSt. : ' ' '

. green part
. of leaf

-white part
“ofleaf -

Before iodinetest -+ Afteriodine tast

What conclusion can they draw from the result of their test?- o

(1)  Sugaris produced during phiotosynittiesis. .

(2)  Sunlight is needed for photosynthesis to take place,” .

(3)  Chlorophyll is needed for photosynthesis to take place,

(4)  The rate of photosynthesis is higher at the outer patt of the feaf.

The table below shows the characteristics of two animals, X and Y.

“Characteristics Animal X | Animal ¥
The Jife cycle has three stages No = | Yes
The young resembles the adult _No. " Yes
ltis apestinone ormore of its stages | - Yes Yes

Which one of the following pairs of animals best represents animal X and animal

Y respectively?

Animal X Animal Y
(1) : Mosquito T Grasshopper
L2y 1 Butterfly ' Mealwoirm beetle
- (3) Cockroach . Frog
(4) - Moth ~ Chicken




6. The animals below are classified according fo the food they eat.. L

. Animals

ladybird | | bear o . bee . :
centipede ~ monkey t AnimalY |

From the infq_rmaﬁon given in the above chart, which one of the following.
statements about animal Y-is most likely to be true? :

(1) Itisaninsect -

(2) ltisabletofly. - -

(3)  Itis not a predator,

(4) Itreproduces by laying-eggs.

10




16..

Thére afe two versions of the gens controlling hair type, ctirly () and straight
(c): L : : N
Different combinations of the gene versions: fesult in different hair types:. A~
person with curly hair has the combination. CC, a person with wavy hair has the
combination Cc, and a person with straight hai;" has the combination ce.

- The diagrams’ below shiow: how. gene combinations in.parents can resuit in

Mother

different combinations intheir childrén. _Not_ al} c,o_mbinaﬁbns are'shown:

Fatﬁer R -:Faiti_ler; S . Father.
c  c ¢ ¢ | C ¢
Cl cc | cc GC{ cc | co | 8C| cc | ¢e .|
¢f ¢c'| cc Zc| cc | Cc. Sc| e |
Father o - -Father
€ ¢ - c ¢
JE:SC Ce | e EG' cc | oo
= , ' 2 I
=C) Cc | cc =C| ¢cc | e

Based on the information given above, which one of the following conclusion is
correct? ' ’

(1) A mother with wavy hair can oniy give birth to children with wavy hair.

(2). A mother with curly hair cannot give birth to children with straight hair.

(3}  Parents cannot give birth to three children each with a different hair fype.
.{4) Parents wiho- have the same hair as each other can only give birth to

children with that hair type.

Lk



18,

' 17 The dlagram below shows the posmon of a styrofoam bali ms1de an mverted

_plas’ac cup:

_}. — plastic cup

_container —

ter —— : styrofoam ball

e —— o : -

Ifa hole is pncked at position X of the plastic cup, which one ofthe fo!lowmg |
dlagrams shows the correct posmon of the styrofoam ball?

(1) o @ styrofoam ball

e e e T — e

(3) | | - @

The table below shows the meltlng and bonllng points of four different
substances W, X, 'Y and Z

Substan_ce i W X | Y | z

Molting point ('C) | 20 35 5 h)
Boiling point (°C) 5 ‘ 110 80 100

Which substance(s) in the table above would have a definite shape and a
definite volumeé at a room temperature of 30°C?

(1) Xonly

(2) Yonly

(3) WandZonly
4 X YandZonly

12




19,  Smith classified some objectsantotwo g.rtjﬁp's as shown inthe chart below.

. ._Ob__jecte

GroupA' 1" | GroupB | .

‘silk blouse | eraser
cheese’ " | - car tyre
- woollenglove - - | paperplaté |

Which one of the following shows the correct headings for the two groups?

Group A - | _..G.fOUfa B-
(1§ Man-made materials‘ | Nétura!- materials _
(2) . Biodegradable: - Non-biodegradable |
{3y { " Not waterproof- _ Waterproof
4) | Materials from animals Materiais from plants -

20.  The diagram below shows some helium-filled balloons being released into the:
air. '

e e
TR P

As the balloons are rising, which of the following forces are acting on the

bailoons?
A alr resistance
B magnetic force
C gravitational force
D elastic spring force -

(1) AandConly.
(2) Band D.only.
(3) CandDonly
(4) A, CandDonly

13



21, Susie carried out an expefifiient to investigate the rate of evaporation of water,
~ She filled fwo containers X.and Y with: 160 mi of water each She’ placed both
. containers on the same table in-her room.

o Wh:ch one of the follomng graphs most likely represents the rate of evaporation
of the water In both containers X and Y?

O R )

iE-iJP. _:EJL

g | s

x-3 G

2| z

3 =N

o X Y Time (h) Y X Time (h)

(3) @

L
Lot
[
' o

volume of water (ml)
volume of watter (i)

Y X Time (h)

14




Two objects, X and Y, arehung a dis_;"tange apart as'sg'io{»;:ﬁ in Figure 1 :befo'w.

L thread

“Figure 1 -

When a-magne_'t-ié- placed between them, .'oﬁject.i(' moves away whiié,oﬁject Y
roves towards the magnet as shown in Figure 2 below. o

Figure 2

Which of the fol!‘owing ‘statement(s) isl_aré déﬁhite:[\g' true about.objeéts Xand Y?

(1
(2)
3
“)

Both X and Y are magnets.

Xis a stronger magnet than Y,

X is made of iron and Y is made of stee), _ _
X s a magnet while Y is made of a magnetic material.

o0 m >

Aonly

Donly

B and C only
A, B and D only

15



23.

24.

" Study the graph below: |

Efficiency of sbmé' cooking appliances:

low

‘ . cooker cooker. oven
low ; - — - — — > hlgh
- relative efficiency j

Based on the graph*above%;. WHicﬁﬁone of the following statements is correct?

(1)  Aslow cooker uses more pbWer than a stove,

(2) .The pressure cooker is less efficient than the oven.
" (3) A microwave oven uses low power and has low efficiency.

(4)  An oven uses the most power and has the lowest efficiency.

A rock ciimber is often seen dusting his hands with powder as he makes his
way up the rock wall. Ltk

How dogs the powder help him? .

(1) It spreads friction evenly and increases contact with the wall.
(2) ltdries sweat on his hands so as to increase friction with the wall.

(3) Itdecreases the surface area in contact and reduces friction with the wall.

(4) It smoothens his hands to increase friction between his hands and the
wall.

16




- 25.

26.

The dlagram be!ow shows eight tiles' wrth drl’ferent surfaces Lela: wanted to find -
out if the size and’ texture of the tile would affect the amount of heat that was

absorbed

A

Grey and rough _ Grey and rough- Grey and smooth  Grey.and smooth

E.

“'H

White and smooth White and rough ~ White and rough Whife and smooth

Which tiles should she use to carry out a fair test?.

(1)

A, Cand E

(2) B,DandF -
3 C,DandE
(49 E GandH .

Which of the following are possible causes of global wamiihg?

(1)

2
(3)
4

A AtidTain :
B .Excessive deforestation
C Meiting of polar i ice caps
D Flooding of coastal towns
E Increased use of fossil fuels
B and E only
Cand D only -
A,BandD only
A, B and E only

17 -



27 The dlagram be!ow shows a csrcurt With three Slmllal' bu!bs ABandC. -

'ﬂ? _ 9—- |

- SW"C“CJ | '[:jsw.tch @sw:tch |

_ h‘ only bulbs B and € aré lit, thCh one of the following circuit diagrams correctly
represents the circuit above?. -

o A - @

1§
.

A TR SR B R

® @

*—o—
1]
]
-
—
H
.8
-8

18




28. " John set up the cirouit below with thre batteries and five sirilar bulbs A, B, G,
D’and‘E. One of the bulbs had fused, résulting in some bulbs being lighted and
others not. ; T o :

Which one of the following describes the buips correctly?

L - A | B 1. G . P _E
1. lighted not lighted fused 1 . lighted | _lighted -
(2) | nothighted | fused lighted . | . lghted |- lighted
(3) lighted | lighted - | not lighted .| not lighted | fused .
{4 lighted | lighted | - lighted .| “fused notlighted |

29.  The diagram below shows howa periscope,v\forks.-

mirror

_' L " indoors

> P eye

mirror

Based on the diagran above, what can we conclude about the properties of

light?
A Light-can be reflected:
B Light cgn be absorbed.
C Light travels in a straight line. .
D Light can pass through tfransparent object.
(1) A only

(2} AandBonly
3 AandcC only
(4) CandD only

19



30

A [ o n

" The bridge spans in the expenment did not bend They added blocks of the

same mass to the middle of each bridge span unfil the plastic supports began to
collapse

The drawings of the bridges below show the tests the students caried out.

- _‘,'weight»

S A\ e _;=bndgeslp.ah..._ :

bridge supports

OO T 0

What were the students frying tofind out in this éxperiment? .

(1)  What height should the bridge supportsbe -
(2)  What shape makes the strongest bridge support

- (8). - What materiat makes the strongest bridge support
{(4)  What bridge span length makes the bridge t_he strongest

~~ End of Section A ~~.

20.

A group. of students were testmg drfferent bndge Sl.lppOfts as shown below. The
~ .supports were of the same helght and made from the same p!astfc matenal
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ecgon (40 marks)

" For questlons 31-44, wnte your answers in fhlS hooklet. .
The number of marks available is shown in’ brackets 1 at the end’ of each ques’uon or
part queshon .

31. The buttonquall is a natxve amma! of a oertam island. Foxes, rabbits; cats and
~ sheep are animal species mtroduced fo the igland by humans. '
‘The diagram below shows the maln food web in the island.

/ éheéb‘:"::.’_ ,"."_' N
: kangéroo" :

rabbii' —_— eagle

fox

- buttonquail

(a) Based on the above food web, which introduced animal(s) compete(s)
‘with the buttonquail for food? (1

{b) . Which intr_odu'ced animal(s) is/are predator(s) of the buttonquail? {11

: (c)' What will happen to the population of echidna when the foxes are wiped
out? 7 4




3. Study the ﬁdWcha'ft‘be!oﬁ}v. |

Plants

Does it bear
- ﬂoers?- _

“Has juicy and
feshy fruits? .

(@) - -Use the flowchart above to identify the following organisms. Write the
correct letters, P, Q, R, S or T, in the boxes provided. 2]

Tomatos i Moss

Conifer | ' Mimosa

- (b)  Can bracket fungus be represented by letter O? Explain your answer. 1]




33 The diagram below shows how blood ﬂOWS in certaln parts of the human body. A
X, Y and Z represent blood vessels The arows’ ‘show the direction in which
blood flows.

Z

- lungs

!arge mtestme |

{a) The blood at Y contains a greater amount of carbon dioxide than at X. It
also contains a greater amount of a substance A. What is this substance?
Give a reason for your answer. : [2]

(b) At which part of the circylatory system, W, X, Y or Z, does the blood
contain the least amount of oxygen? _ [1]

The diagram below shows the gills of a fish. The dills have many, tiny. flaps.

tiny flaps covered
with blood vessels

(c) What type of adaptation is this and how does it help the fish to survive? {1}




34 - The dnagram bélow shows sorme bll'dS in thelr habltat Ah“ o spill will afféct al the
' ergamsms in the commumty R I

(8)  Explain how the ol spill will affect the birds directly. 2]
0]
(i)
(b)  Explain How the oil spill will affect the algae in the sea, - [




35. ,'A!ex ‘was fold that seeds need water, oxygen and sultable warmth to gelmmate

, He set up the experiment as shown in Fi gure1’ below fo mvestlgate one of the
conditions necessary for germination to take place. Chemical K absorbs” carbon
dioxide in the air. Figure 2 shows the result of hls expenment afew days later

beaker

coloured water germinatmg R | coloured water

- . seeds
Figu.rej | .Figure 2

(@) Based on the set-up above, whé‘t‘is the hypothesis of his experiment? [1]

()  Alex observed that the coloured water had: moved up the glass tube after

the seeds started fo germinate. Explain-why the colotred water moved up
the glass tube. : . [1]

Alex camed out another expenment wrth a grasshopper as shown in the
d|agram below

chemical K

test tube -

_graéshoppér capillary ink drop
' tube

(c)  Whatwould happen to the drop of ink in the capillary tube after a while? {¥]




- 36. A room fitted with double-glazed windows will bé coolér than- one with the normal”
- glass windows. The diagram below shows iwo different views of a double-glazed
‘window, - -

sealed air space . ] L ‘
T outer glags f _inner glass -

— sealed air

- inner glass - space .

Double-glazed window

‘The -graphibglow shows how ﬂ_‘i_e temperature in the living room would vary with.-
the normal glass windows, ‘ ‘ Do L

o

=F

|

o|

[o1

g

| _

: - ——] —

" Bam B 8pm Time (h) -

(@  Draw another line in the graph above to show how the temperature in the
living room would vary with the double-glazed windows. : f11

(6)  Explain your graph in (é) above. o [

(©)  Why do some birds puffup their feathers at night? ‘ [1]




37.

The diagram below shoWs the water cycle. e

(@)

)

(c)

| Water cycle

e TN
o fum gl Ve ,"

;

What Is the main source of energy for the water cyﬁlé? 11

Why is thé water cycle important for all living things? [1]

During evaporation a hqmd changes into a gas while during condensation

a gas changes info a liquid. State one other difference -between the two
. processes. 7 [1}




-38.. Three pieces- of dszerent matenals X, Y arid: Z, were p!aced over. the mouth of-
similar empty: beakers as. shown'in the -diagram. below: The same amount of
water was poured-onto each of the matena!s The dlagram below shows the-
resuits ofthe expenment ‘

water

. matefial X

 material Y material Z

-beaker -

-'\-(a)' | .From the results WhICh one of the matenals X, Y orZ,-isthe most -
o absorbent? _ , _ : [*2]

(b) ~ Explain 'yodr answer in (a) above. [1%]

(c)  Based on the results, which one of the materials, X, Y or Z, is the most
suitable for maklng a tent? Give a reason for your answer. {1l




39, Jackson puit a balloon in a bottle as shown in Figure 1 He tried to inflate the
" balloon by blowing air into it as shown in Figure 2. He managed to inflate the
ballooh a little but found. it hard to mﬂate the bal!oon further even though there

was ample spaoe in the bottle.

inflated balloon

* deflated balloon.

: ‘Fig_ure 2

(@) Explain why Jacksen could inflate the: baﬂoon inside the bottle a little at
the start of the expenment - [1]

(v) Explain why Jackson could not further inflate the balloon. {1]

10




40.  Jane tbbk"édi::a: jar of éﬁawbémy.iafﬁ' from a réfﬁgérat'oi_'"but she could n'pt;‘ furmn’
the metal fid on'the jar. T - . : )

() Suggest o‘r_:é way ﬁat'.qané_lcol_ifd‘ make it easler to tum and open the fid of

-the jar...

m

(b))  Explain your éhswer in {(a) abo\re‘;

1]

The-diagram below shows the gaps on-a raitway track. .

{c) Why is there a need to leave a gap at the joint between fwo rails? [1]

11




41, Meiliﬁ'g carried out an experiment td,imke_sﬁgé_te"the effect of salt on tﬁeltirig ice.

She collected and measured the amount of water from the melting ice at 10-
minute intervals. The graph below shows the resuits.of her expefiment. '

Effect of salt on melfingice -

(a) Whatis the correct fabel for Y-axis?

Y-axis |25 T
20 (o
15 I .
, e -
= . . o | ~o-satt.
i T 2 ' A &
5 I = o ,—-—~_no-§aft
l..J ’.' - T ' i1y — -
0 20 40 60 g0 .100| Time (min) |

Mmoo

"(b) What can Meiling conclude from her results?-

(c)

]

Meiling carried out another expeﬁme_nt with two ice cubes of the same
size, one wrapped with aluminium foil and the other with tissue paper of
the same thickness as the foil. Which ice cube will meit faster? Explain

your answer. -’

[1]

12




42. - [The dragrarn below shows the mechamsm of a door bell as shown in ﬁgure 1.
'When the switch i IS closed the hammer wzlt stnke the gong as. shown in ﬁgure 2.

baﬁenes- o bt[ _l. "
T N A__aﬂe?,‘,ﬁeid__:

switch |,

_contact screw

) ‘ “softiron
":"e!ectromagnet X e'écﬁorﬁagnet‘ X f hammer.
. gong . ' A‘ 'V ! . ) - Coe

Figured .~ = . . Figure 2 .

' (&) Describe and exp!am what will happen to the: electromagnet when the
- hammer struck the gong. 2]

(b)  State the main energy conversion that takes place when the switch is
closed. e _ 121

'baﬁery gong

13




43, .

The diagrams below show’ the ‘experiment that Sam set up to find out how

objects A and B interact with the ‘magnet. Object A was made of glass while

_ object B was made of a different material: The two cbjects have the- same mass..

The lengthrof the spring is shown in Figure 1 after object A was placed on it, Sam

_repeated his expetiment by replacing object A with object B. The length of the

spring is shown in Figure 2 when object B was placed onit.

q I d ¥
‘magnet
~ retort —— ™ L . . |
stand [ ,ﬂg —_— object A { I”W :_‘ objéct B
7ﬂ E_._ épring ¥ sm : cardboard
Figure 1 - ) ' Figure 2

Expi_ain c!éariy wha"_t could have caused the changé in the length of the spring
when object B was placed on the cardboard. 21
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44, "'fhé_'diagrah below ého’ws an-opaque ijeq{“placed: between a light source and

o ascréen.
- screen
.. lightray - .
. torch ! - a
- ' ) opaque : table top
object '
{8} Draw the shadow of the object on.the screen. - ' [1]

The diagram below shows the relative sizes of a piece of cardboard with a holé

and the opaque object.
cardboard.
opaque " with a hole
object :

(b)  If the piece of cardboard is placed at position X between the object and
the torch, draw the new shadow cast on the screen in the space below.
(1]

~~ End:of Paper ~~
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: EXAM PAPER 2013
‘SCHOOL.: CHIJ : ‘
SUBJECT PRIMARY 6 SCIENCE -

TERM 3 PRELIM

Q1 [0z [ 03 104 [ 05106 [ 07 | Q6 .09 | Q10| Q1L ] Qiz [013] 0l4 1015 [ 0i6

017

4.1 1 {3 {1+ {2 {3 j-.12. 13 [4. {42 {2143 [1]3]2]

018 ] Q19 [ Q20 Q21 [ Q22 | 073 ] Q24 | G25 | Q26 ] Q27 [ G28 ] 029 | Q30

244.4 »4'2'4 1 4 2 |3 | 2

31)a)Sheep and rabblt
b)Cat and foxes’
€)The populatlon of the echidna would decrease

32)a)T Q.
P R

'b)No. Itis e"v‘eﬁ a plant.
33)a)It is water. Water'is absorbed in the Iarge mtestme mto the blood stream,
therefore the blood that goes through the large mtestme will have more water
than‘before.

b) Z.

c)ltisa structural adaptatlon The tmy flaps covered w:th blood vessels

absorb dlssolved oxygen so that the fish can reSplrate and live,

_ 34)a)|)When the birds dive into the water to get food and come out, the oil
from the oil sp:!l would coat their feathers. The would not be able to fly and will
either drown or get eaten.

ii)The oil might enter their respiratory system, preventing them from
breathed causing them to die.
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Answer Keys


.34)b)The oil would prevent sunhght from reachmg the algae, and the algae
would not be able to- photosynthe5|s and wdl die.

'35)a)Seeds need oxygen to germmate. : _
b)The seeds resplrated and produced carbon dioxide whlch was desorbed‘ s
by Chemical K, the oxygen level décreased as the seeds used the oxygen:to
respirate. The amount of airin’ the set-up decreased and the coloured water
moved up to the empty space. :
c)The ink drop would move towards: the test tube

36)a) %

I

b)The air trapped in-the double glazed window is a poor conductor of heat
which reduces the heat transfer from ouitside to the room, so the temperature
in the room is lower.

c)They puffed up their feathers to trap trap air within their feathers to
~ reduce loss of body heatas air is-a poor conductor of heat.

37)a)The sun.
b)It ensures the constant supply of fresh water so that at the living things
have enough water.
c)Evaporatlon evolves heat galn while condensation involves heat loss.

38)a)Z.
. b)All the water was absorbed into material Z, allowing nota single drop. of
water to drop into the beaker or stay on material Z.
)X Altent has to be water proof so that when it rains, the users-can stay
dry. X is water proof as the water is unable to go through X, therefore X is the
best matenal for making tents. - .

39)a)A|r could be compressed but not too much When Jackson blew into the
balloon, the air blew into the balloon took up space and some of the air in the
bottle was compressed. However, Jackson could not blow in more air anymore
at the air could not be compressed further.

b)The airin the bottle could not be- compressed further therefore when the
air blew into the balloon took up space, there was no more space for the
balloon to be inflated.
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“40)a)She could put the fid of thejar into-a bowl offot water. . SR
. B)Matter expaiids when Weatad-and the lid would expand causing i to s -

bigger and easierto take off thejar,
. . €)On a hot day when the rails'are heated, the rails would expand as matter

* expands when heated. If there'was'no gaps; the railway would turn ciooked - -

and the train would not be able to travél on it.

41)a)Amount of water.from the melting ice.

b)Salt causes the melting ice to melt faster. _ .

c)The ice cube wrapped in aliminium foil. Aluminium foil is a betfer. -
conductor of heat than tissue paper, causing the heat froni the surrounding air

- to'be conductor to the ice cube faster; causing it to melt faster than the ice

cube wrapped intissue paper.

42)a)The electromagnet would become not magnetic anymore as when the

eleéctromagnet attracts the soft iron, causing the hammer to hit the gong, the’

. contact screw would be unable té touch the spring causing it to be an oepen
~ circuit, de-magnetising the electromagnet.

b)Chemical potential energy->Electrical energy->Kinetic energy- Kinetic

‘sound energy

43)Magnetic rép.ulsion. Object Bwas a magnet.and-thei"lik_e p_ol_e_é of Object B

and the magnet were facing each other, ca using B to repel and compress the
spring, causing the fength.of the spring to decrease.

44)a)
R " e

v

Spaque .- tabietop
X object : TR
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